ERAE A”*38@§1ﬁ7 OvyIR=
INL— wrix (A6 Al

BHiE 3Fﬁk29¢8ﬁ20E|(El)
=15 EIABREREEV)—2T)—F)
AA.B.C $IDa—Fk
FERK BF: EILTH(V5M5000)7R—)L
TF IHYE(MVA300)7R—)L

R 5B F6 Al

=FE 1 3 IKREE
2% 23 — 25
25 — 20 B IR 25 — 21
3] 25 — 19 |0 A1 A'3 C1 3| 25 — 19 | 2
25 — 13 16 — 25
15 — 12
BER 2 K 4 EHE
25 — 23
3] 25 — 21| 0
25 — 16
_/
(BF)
1L FEE R ol IRRE 3G =FR E3G BB
HKEIMDERMBIIAKREIZHIG,
RAELF6 AN
1R 1 3 =F&
12 R 25 — 19
- 20 Iz B2 IR 25 — 23
—18 |0 B1 B'3 D1 3| 17 — 25 |1
— 13 25 — 17
I ERIE 2 4 ZHE
25 — 18
3| 25 —20 |0
25 — 13
(&F)
F16 KRR g =8H FE3L: FEME IR EI3G BB

KEVLDIRRRIARAREICHIE,



ERAEREREISEREBEIAVIRE
NL—R—)LERF (D)
T29%£8H19H (1)-208(RH)

EIEBREERBEG)—2T)—F) AMMUA.B.C HIDa—hk
A% BF: EILTUR(VEM5000R—IL EF:IHHEUMVA300)HR—IL

A7

=15

LEBF
A8 it B HEIE 1= 4
1 IKBEE x4 ZHE A1 1 g B B
8/19|2 EFEIER X 3 2Z=ZFEE |C1 2 i
(B3 =ZFEB& x 4 ZHME A2 3 = 8 &
1 IKBE 2 EBEE |c2 4 T %M B
g/20l2 BHEE x 4 EFZHME | A2
@1 KRR x 3 =FER c2
B e . _
=| E A b= — === =408 a7 tyhx TRE -
Iz 2% B R ZER 2R AL [ TEE T
53 30 — 28 17 — 25 28 — 26
B 2[25—20}0 2[25—19}1 18—25 | 2|3|2|1]5|3|167 |184|190[0.97 | 2
=] — 25 — 22 \ 16 — 25~
&% 28 — 30" 17 — 25 12 — 252
| 0| 20—25| 2 o[m—zsjz 13—25 | 2|3|0|3]o|6|000 |111|155(0.72 | 4
=] . —_ J —_ . —_ J
= 25 — 177 25 — 17 725 — 182
o) 1] 19—25| 2 2[25—21}0 25 —16 | 0] 3|2|1]5|2|250 |166[139[1.19| 1
=] \ 22 — 25/ — . - )
= 26 — 28 25 — 12 18 — 25
v 2| 25 —18 | 1 2[25—13}0 o[m—zsjz 3|2|1]4|3|1.33 |teo[137{1.17] 3
Bl 2516 - =
HKEIUEF2MDENKRKEZIZH IS,
DEZF
A8 it B HEIE (=1 4
1 BEE x 4 ZHME | BT 1 i
g/19l2 Z=ZFER x 3 KRR D1 2 = & &8
(1|3 KEBEE 3 4 ZTHE |B2 3 g B B
1 BEE X 2 Z=ZFB D2 4 T M B
g/20l2 Z=ER X 4 EHE B2
@1 FHEE x 3 KRR |D2
JIE 5L SE 5T 3= = -
=1 18 e =] =] == = s Ty (LS o
K3 19 — 25 18 — 25 C 24 — 26
5 0[14—25]2 0[15—25]2 17 —25 | 2| 3|0|3]o|6|000 |107151(0.71 | 4
B —_— —_— . —_— ~
= 25 — 197 15 — 25 25 — 217
= 2| 25—14 | 0 1[25—17]2 10—25 | 1|3|2|1|5]3]|167 |172|159|1.08 | 2
2 - = 22 — 25 \ 25 — 13~
53 25 — 18 25 — 15 17 — 257
B 2| 25 —15| 0 2[17—25]1 20—25 | 2|3|2|1]|4|3]1.33|154/145/1.06 | 3
N:! . - ) 25 — 22 .=
= (26 — 24 21 — 25 25 — 17
0 2| 25—17| 0 1[25—10}2 2[25—20}0 3|2|1]5|2|250 160|138 1.16 | 1
= R 13 — 25 —
XEIUEF2HUDENAKRZICHIE,




